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Problem quickname: 9801

1)

Calculate the result.

a) 582 — 2 = 580
d) 978 — 7 =971
g) 822 — 2 = 820

\)

Calculate the result.

a) 6436 — 6 = 6430
d) 5865 — 8 = 5857
g) 9177 — 53 = 9124
3)

Calculate the result.

a) 43 — 5 = 38
d) 65 — 6 = 59
4)

Calculate the result.

a) 213 — 3 = 210
d) 595 — 5 = 590
g) 846 — 3 = 843

Good Luck!
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Solutions to smp-9801-2/UFRD

Worksheet

b) 391 — 1 = 390
e) 673 — 2 = 671
h) 579 — 9 = 570

b
e

)
)
h

b) 78 — 7 =T1
)75 —2="73

6214 — 4 = 6210
4572 — 10 = 4562
) 4848 — 10 = 4838

b) 842 — 2 = 840
e) 514 — 2 = 512
h) 367 — 2 = 365
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¢) 791 — 1 = 790
£) 376 — 2 = 374

c) 3353 — 45 = 3308
f) 6438 — 36 = 6402

)34 —4=30
£) 96 — 7 = 89

¢) 467 — 4 = 463
£) 207 — 3 = 204
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